3 i ; i ula isite ésistance i A Résist Régista SERUATIONS
52 4% 65 | 6,3(0,8) | P15 |1llo| 43 2.000 i 0 = 1.750 3 | Classe A
P 180 6 —_ —_ 0 _— — —_— Classe B
53 3-3 17 2,5(2) P(10) | 250 6 e o -5 800 11.300 | 8,1 | Analogue & 8AG
.55 P23 76 | .2,5(1) D-BF | 280 8 L 2 -20 2.500 | 7.500 §. 1,1 | Analogue s 85
58 3 63 2,5(1) BF 256 5 e = 135 | 2.700 9.500 | 1,48 | Analoguo & 76
57 5 69 2,5(1) HF 250 2 - 100 3 | 12001 I8 MO | 1,22 | Analogue & 647
58 5V 89 2,5(1) | HF 250, 8,2 = 100 -3-50 S00E100.8 MOl 1Bk e i
i 100/ 8 - 100 -3-50 | 800 | 0,25 MQ| 1,5 | “HOREATH
59 5 145 | 2,52) | P@1.25) | 250 28 5.000 = -28 1.100 2.8001 ] 206 |ionare trinde
I | P(3) 250 35 G000 250 -18 410 40.000 259 Montage pentode
! P(20) 400 26 | 6.000 — | -18 0 — e P.P. triode courant grille
T0A7 2-4 8 br.| 70(0,15) | P(1,5) | 110| 40 | 2800 | 110 | -15 170 15.000 8 | artie tétrode
: - R 125 70 I — 5 g — — — — — Partie redresseur
T0LZ 24 |8br| 70(0,15)| P(1,8) |110| 40 | 2.000 e 75 1704 £ 15.000 51" 7, Partie tétrode
R 125 70 —_ — — — — - Partie redresseur
714 3* | 59 | 5(0,25) | P(08) +| 180 20 4.800 = -40,5 | 2.000 1.750 1L
| P(0,12) | %0 10 3.000 — | -165 | 1.650 | 2.170 14
T ‘ . i
75 223 ' 76 | 63(©03)! DBF [250| 09 | — | — ¢ 2 2.200 | 91.000 | 1,1 | Analoguea 68Q7
16 3 ‘ 63 | 6,3(0,3) BF 250| 5 = s -13,5 | 2.700 9.500 1,45!
| |  BF 100 2,5 = — ot B SHEDT000 T 212,000 | 118
{ B 250 1,3 0,1 MQ 2 -8 6.000 el —
{ ' BF 100/ 05 | 0,1MQ = -4 8.000 = =
] 5 69 | 6,3(0,3) HF 250 2,3 O] SRR e ey 1.100| 1MQ | 1,25
HF 100/ 17 e 80 i -1,5 700 [ 0,6 MQ | 1,
D-BF | 250| 043 | 08MQ | 100 | -43 | 10.000 e e
D-BF | 100| 0,15 | 0,25 MO 36 -1,9 | 12.500 i S R L
78 5v 1 69 | 63(03)| HF |280| T — | 100 | -342 | 300 | 0,8MQ | 1,45 | Anslogue 6K7
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